$$\begin{cases}
-2x_1 + 2x_2 + 10x_3 = 2 \\
-3x_1 + x_2 + 9x_3 = 5 \\
4x_1 - 2x_2 - 14x_3 = -6
\end{cases}$$

$$\begin{cases}
-2x_1 + 2x_2 + 10x_3 = 2 \\
-3x_1 + x_2 + 9x_3 = 5 \\
4x_1 - 2x_2 - 14x_3 = -6
\end{cases} \xrightarrow{R_1 \leftarrow \frac{1}{2}R_1}$$

$$\begin{cases}
-2x_1 + 2x_2 + 10x_3 = 2 \\
-3x_1 + x_2 + 9x_3 = 5 \\
4x_1 - 2x_2 - 14x_3 = -6
\end{cases} \xrightarrow{R_1 \leftarrow \frac{1}{2}R_1} \begin{cases}
x_1 - x_2 - 5x_3 = -1 \\
-3x_1 + x_2 + 9x_3 = 5 \\
4x_1 - 2x_2 - 14x_3 = -6
\end{cases}$$

$$\begin{cases}
-2x_1 + 2x_2 + 10x_3 = 2 \\
-3x_1 + x_2 + 9x_3 = 5 \\
4x_1 - 2x_2 - 14x_3 = -6
\end{cases} \xrightarrow{R_1 \leftarrow \frac{1}{2}R_1} \begin{cases}
x_1 - x_2 - 5x_3 = -1 \\
-3x_1 + x_2 + 9x_3 = 5 \\
4x_1 - 2x_2 - 14x_3 = -6
\end{cases}$$

$$\begin{pmatrix}
-2 & 2 & 10 & 2 \\
-3 & 1 & 9 & 5 \\
4 - 2 & -14 & -6
\end{pmatrix} \xrightarrow{R_1 \leftarrow \frac{1}{2}R_1} \begin{pmatrix}
1 - 1 & -5 & -1 \\
-3 & 1 & 9 & 5 \\
4 - 2 & -14 & -6
\end{pmatrix}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -3x_1 + x_2 + 9x_3 = 5 \\ 4x_1 - 2x_2 - 14x_3 = -6 \end{cases}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -3x_1 + x_2 + 9x_3 = 5 \\ 4x_1 - 2x_2 - 14x_3 = -6 \end{cases} \xrightarrow{R_2 \leftarrow R_2 + 3R_1}$$

$$\begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -3x_1 & +x_2 & +9x_3 = 5 \\ 4x_1 & -2x_2 & -14x_3 = -6 \end{cases} \xrightarrow{R_2 \leftarrow R_2 + 3R_1} \begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -2x_2 & -6x_3 = 2 \\ 4x_1 & -2x_2 & -14x_3 = -6 \end{cases}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -3x_1 + x_2 + 9x_3 = 5 \\ 4x_1 - 2x_2 - 14x_3 = -6 \end{cases} \xrightarrow{R_2 \leftarrow R_2 + 3R_1} \begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -2x_2 - 6x_3 = 2 \\ 4x_1 - 2x_2 - 14x_3 = -6 \end{cases}$$
$$\begin{pmatrix} 1 - 1 - 5 & | -1 \\ -3 & 1 & 9 & 5 \\ 4 - 2 - 14 & | -6 \end{pmatrix} \xrightarrow{R_2 \leftarrow R_2 + 3R_1} \begin{pmatrix} 1 - 1 & -5 & | -1 \\ 0 - 2 & -6 & 2 \\ 4 - 2 & -14 & | -6 \end{pmatrix}$$

$$\begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -2x_2 & -6x_3 = 2 \\ 4x_1 & -2x_2 & -14x_3 = -6 \end{cases} \xrightarrow{R_3 \leftarrow R_3 - 4R_1} \begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -2x_2 & -6x_3 = 2 \\ 2x_2 & +6x_3 = -2 \end{cases}$$

$$\begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -2x_2 & -6x_3 = 2 \\ 4x_1 & -2x_2 & -14x_3 = -6 \end{cases} \xrightarrow{R_3 \leftarrow R_3 - 4R_1} \begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -2x_2 & -6x_3 = 2 \\ 2x_2 & +6x_3 = -2 \end{cases}$$
$$\begin{pmatrix} 1 & -1 & -5 & -1 \\ 0 & -2 & -6 & 2 \\ 4 & -2 & -14 & -6 \end{pmatrix} \xrightarrow{R_3 \leftarrow R_3 - 4R_1} \begin{pmatrix} 1 & -1 & -5 & -1 \\ 0 & -2 & -6 & 2 \\ 0 & 2 & 6 & -2 \end{pmatrix}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -2x_2 - 6x_3 = 2 \\ 2x_2 + 6x_3 = -2 \end{cases} \xrightarrow{R_3 \leftarrow R_3 + R_2} \begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -2x_2 - 6x_3 = 2 \\ 0 = 0 \end{cases}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -2x_2 - 6x_3 = 2 \\ 2x_2 + 6x_3 = -2 \end{cases} \xrightarrow{R_3 \leftarrow R_3 + R_2} \begin{cases} x_1 - x_2 - 5x_3 = -1 \\ -2x_2 - 6x_3 = 2 \\ 0 = 0 \end{cases}$$
$$\begin{pmatrix} 1 - 1 - 5 & -1 \\ 0 - 2 - 6 & 2 \\ 0 & 2 & 6 - 2 \end{pmatrix} \xrightarrow{R_3 \leftarrow R_3 + R_2} \begin{pmatrix} 1 - 1 - 5 & -1 \\ 0 - 2 - 6 & 2 \\ 0 & 0 & 0 \end{pmatrix}$$

$$\begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ -2x_2 & -6x_3 = 2 \end{cases} \xrightarrow{R_3 \leftarrow -\frac{1}{2}R_3} \begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ x_2 & +3x_3 = -1 \end{cases}$$

$$\begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ & -2x_2 & -6x_3 = 2 \end{cases} \xrightarrow{R_3 \leftarrow -\frac{1}{2}R_3} \begin{cases} x_1 & -x_2 & -5x_3 = -1 \\ & x_2 & +3x_3 = -1 \end{cases}$$
$$\begin{pmatrix} 1 & -1 & -5 & -1 \\ 0 & -2 & -6 & 2 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{R_3 \leftarrow -\frac{1}{2}R_3} \begin{pmatrix} 1 & -1 & -5 & -1 \\ 0 & 1 & 3 & -1 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ x_2 + 3x_3 = -1 \end{cases} \xrightarrow{R_1 \leftarrow R_1 + R_2} \begin{cases} x_1 - x_2 - 5x_3 = -1 \\ x_2 + 3x_3 = -1 \end{cases}$$

$$\begin{cases} x_1 - x_2 - 5x_3 = -1 \\ x_2 + 3x_3 = -1 \end{cases} \xrightarrow{R_1 \leftarrow R_1 + R_2} \begin{cases} x_1 - x_2 - 5x_3 = -1 \\ x_2 + 3x_3 = -1 \end{cases}$$
$$\begin{pmatrix} 1 - 1 - 5 & -1 \\ 0 & 1 & 3 & -1 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{R_1 \leftarrow R_1 + R_2} \begin{pmatrix} 1 & 0 - 2 & -2 \\ 0 & 1 & 3 & -1 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 \\ 0 & 1 & 3 & | & -1 \\ 0 & 0 & 0 & | & 0 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 \\ 0 & 1 & 3 & | & -1 \\ 0 & 0 & 0 & | & 0 \end{pmatrix} \longrightarrow \begin{cases} x_1 & -2x_3 = -2 \\ x_2 & +3x_3 = -1 \end{cases}$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 \\ 0 & 1 & 3 & | & -1 \\ 0 & 0 & 0 & | & 0 \end{pmatrix} \longrightarrow \begin{cases} x_1 & -2x_3 & = & -2 \\ x_2 & +3x_3 & = & -1 \end{cases}$$

$$\implies \begin{cases} x_1 & = 2x_3 - 2 \\ x_2 & = & -3x_3 - 1 \end{cases}$$

$$\implies \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 \\ 0 & 1 & 3 & | & -1 \\ 0 & 0 & 0 & | & 0 \end{pmatrix} \quad \rightsquigarrow \quad \begin{cases} x_1 & -2x_3 & = & -2 \\ x_2 & +3x_3 & = & -1 \end{cases}$$

$$\implies \begin{cases} x_1 & = 2x_3 - 2 \\ x_2 & = & -3x_3 - 1 \end{cases}$$

$$\implies \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 2t - 2 \\ -3t - 1 \\ t \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 & | & & \\ 0 & 1 & 3 & | & -1 & | & & \\ 0 & 0 & 0 & | & 0 & | & & \\ & & & & & & \\ & & & & & \\ & & & & & \\ & & & & & \\ & & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & &$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 \\ 0 & 1 & 3 & | & -1 \\ 0 & 0 & 0 & | & 0 \end{pmatrix} \implies \begin{cases} x_1 & -2x_3 & = & -2 \\ x_2 & +3x_3 & = & -1 \end{cases}$$

$$\implies \begin{cases} x_1 & = 2x_3 - 2 \\ x_2 & = & -3x_3 - 1 \end{cases}$$

$$\implies \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 2t - 2 \\ -3t - 1 \\ t \end{pmatrix} = \begin{pmatrix} 2t \\ -3t \\ t \end{pmatrix} + \begin{pmatrix} -2 \\ -1 \\ 0 \end{pmatrix} = \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} t + \begin{pmatrix} -2 \\ -1 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 1 & 0 & -2 & | & -2 \\ 0 & 1 & 3 & | & -1 \\ 0 & 0 & 0 & | & 0 \end{pmatrix} \longrightarrow \begin{cases} x_1 & -2x_3 & = & -2 \\ x_2 & +3x_3 & = & -1 \end{cases}$$

$$\implies \begin{cases} x_1 & = 2x_3 - 2 \\ x_2 & = & -3x_3 - 1 \end{cases}$$

$$\implies \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 2t - 2 \\ -3t - 1 \\ t \end{pmatrix} = \begin{pmatrix} 2t \\ -3t \\ t \end{pmatrix} + \begin{pmatrix} -2 \\ -1 \\ 0 \end{pmatrix} = \begin{pmatrix} 2 \\ -3 \\ 1 \end{pmatrix} t + \begin{pmatrix} -2 \\ -1 \\ 0 \end{pmatrix}$$

(Parametric form)